EG: 17 x 3=                         1 7There are 25 pencils in a pack. Mrs Denny orders 6 packs. How many is that altogether? 
Each class needs new books. Every box holds 28 books. Mrs B orders 3 boxes for both classes. What is the total? 

Mrs B works out a calculation:
43 x 6 = 
“4 x 6 is 24 so 40 x 6 must be 240
3x 6 is 24. 
40 + 20 = 60
200 + 60 + 4 = 264”
Is Mrs B correct? 

10 x 3 = 30       or           x     3
7 x 3 = 21                          5   1
[bookmark: _GoBack]30 + 21 =51	            2
13 x 4 = 

24 x 4 = 

16 x     = 32

17 x 3 = 

32 x 6 = 

34 x 4 = 

56 =      x  8

